AEZHE A (R 98 /2 4 7] )

(9] - )

oo R el B 1A= | 2016 7174 | 2016 FHF
A A} - R (B) o 2k (A) 4k (A+B)
34 2,188,034 74,181,709 76,369,743
2,188,034 74,181,709 76,369,743
ZZEq & 1,498,420 71,126,127 72,624,547
MY A74,024 2,756,353 2,682,329
73 Y E X A7 H &+ AT74,024 2,715,853 2,641,829
TFYEZAY A74,024 2,715,853 2,641,829
1. AFAEAI AN R Y AT74,024 2,713,853 2,639,829
7}, A A}l An) XY AT74,024 2,713,853 2,639,829
D 7185 110-02 |1,538,2159x 929 x 129 = A1,363 1,699,553 1,698,190
2) A7 ZEIAE 110-02 |171,9179 %929 x12¥= A9,343 199,140 189,797
3) 7SS 110-02 |75,1509 x589 x 129 = 1,065 51,240 52,305
4) A B 25 110-02 443,550 X 10 X 43%-7] = 4,290 13,452 17,742
5) WEH ZH 110-02 |59,94791x 929 x 129 = A58 66,240 66,182
6) T4 110-02 |79,92791x92% x 129 = A80 88,320 88,240
7) Az 110-02 |907,369¢ x 924 = 722,785 106,263 83,478
8) HA= 320-04 |2,257,4609x 92 = 45,750 253,437 207,687
£8E2 9 182,770 3,986,048 4,168,818
TSI Lo £A20,000 174,295 154,295
2] Q1A &2 £20,000 123,000 103,000
1. FAaN S8R £20,000 23,000 3,000
7}. OnTheRoadI AL Z 2 A E £20,000 20,000
1) SoE38AtEo 210-12 |0€9= A7,000 7,000
2) Aol RLstEZE 210-12 |0€9= 1,000 1,000
3) AT S A B2 9F o) wk 210-12 |09= A1,000 1,000
4) Wre&TAtolokr] 210-12 0€d= 21,000 1,000
5) 35l =2F oS0t 3 210-12 |0€9= A~2,000 2,000
6) LAY E A 210-12 |0€9= A~2,000 2,000
7) W=l o 210-12 |0€9= A5,000 5,000
]) ZHH] 210-12 |0€9= 1,000 1,000
S RETA RS 1,810 383,978 385,788
ELgSansaExY 1,810 343,000 344,810
1. EFaSALAHF 1,810 343,000 344,810
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AR X % (9] - )

‘:’l'-ﬂ "ﬂl?‘ }\]_CQLHoa E_,H]E A %LHOS 1 _]-%73@4 20164 7]@ 201614 31%_
AFS] A B T e (B) Ak (A) 4t (A+B)

7} A E2= 8% 2 A E] £ 1,810 220,912 222,722

1) ZFAFI 7N 1,810 72,868 74,678

7hH A& 110-02 |2,379,5009 X2 x12¥= 1,656 55,452 57,108

W) Az 110-02 78,2309 x 29 x 159 = 68 2,280 2,348

th gHzA= 320-04 |2,558,0009 x 2= N 5,122 5,116

Zh) =uld= 320-04 |31,188,0009 X 4.5% X 2% = 42 2,766 2,808

op) A7}R3 320-04 |31,188,00091 % 3.035% x 2 = 28 1,866 1,894

v 1853 320-04 |31,188,0009 x1.5% % 2% = 14 922 936

AP AHA R 8 320-04 |31,188,0009 X 1% x 2% = 8 616 624

PDEXSETES A100,000 1,417,556 1,317,556

o WAL B Z7FAL- A100,000 726,000 626,000

1. golul mAIS-S A1,740 8,553 6,813

7}, A3 )] 210-09 [193,0009 <109 = ~420 2,350 1,930

. FAAAE S A1,320 2,500 1,180

1) Ay 430-01 |220,0009 x 4t]= 1,120 2,000 880

2) A=} ol%] 430-01 |100,000¢ x 3dj= ~200 500 300

o ml wAFOI A K] 298,260 717,447 619,187

7}, B A88,800 489,200 400,400

D 1+5H 110-03 12,700,0009 x 8% x 12¥ = 32,400 291,600 259,200

2) 15 110-03 12,500,000 x 38 x 129 = 20,000 70,000 90,000

3) 2+%5+ 110-03 [2,300,0009 %1 x 109 = £~64,400 87,400 23,000

4) 25 110-03 12,200,0009 x 17 x 3¢ = A6,600 13,200 6,600

5) 43| 252} 110-03 150,0009 x 1278 x 129 = 25,400 27,000 21,600

U, Feldxs 110-03 1400,0009 x 12 x 129 = A14,400 72,000 57,600

ok At Al eFY 2 210-15 |300,0009 x 9% = A300 3,000 2,700

2} 2% 7 210-15 |1,650,0009 x 9% = A1,650 16,500 14,850

np, B2 e 1,500 41,800 43,300

1) AFA kA ¢ 210-15 |1,300,0009 x 94 = 1,300 13,000 11,700

2) 7AleketE A9l 2,800 28,800 31,600

7h At 210-15 |1,300,000¢ x 127 = 25,200 20,800 15,600

W) A7 ek 210—-15 |2,000,000¢) x 8% = 8,000 8,000 16,000

SIS A= 5,390 48,047 53,437
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- IS = A= ST R R (Sl @ H9)
Bopnzm R 9] Al - Apeluj el B P 1x5374d | 2016 717 | 2016 &5
Abel A} A (B) o 2k (A) o AH(A+B)
1) =+ 320-05 |610,000,000¢ X 4.5%= 2,700 24,750 27,450
2) AR 320-05 |610,000,0009 X 3.06%= 1,967 16,700 18,667
3) welAr|eoky sl 320—05 |18,666,0009 X 6.55%= 123 1,097 1,220
4) AFA K 320-05 |610,000,0009 X 1%= 600 5,500 6,100
38 w884 3% 9 960 43,879 44,839
B3ty &34 A 3} 960 41,239 42,199
1. FAFALL-S 960 38,743 39,703
7}, 7} EHA B ALl A H] 960 38,743 39,703
1) A7) 257 Ak 110-02 1390,0009 x 129 = 960 3,720 4,680
A5 w4 st 350,000 1,472,019 1,822,019
St A-SA| A ANA 350,000 1,270,024 1,620,024
1. A SAE Fg 350,000 1,270,024 1,620,024
7F S 1S A A A S A) A 2 A 350,000 350,000
1) AlAdn) 350,000 350,000
7P nAIEF A A 420-03 |19,6109x12,524.73m'= 245,610 245,610
) w2 Al 420—03 220,0009 X 137m= 30,140 30,140
o A (ETA W) 420-03 |82,500¢1 Xx900m'= 74,250 74,250
AZAST TS A50,000 100,000 50,000
AZAS TS A50,000 100,000 50,000
1. AZAFZIZ ALY 250,000 100,000 50,000
7F A3 SA] Y AE ¢ e 320-02 |50,000,000¢ x17]#= A50,000 100,000 50,000
TSEXR Y 445,172 6,827,850 7,273,022
229 445,172 5,209,197 5,654,369
7)1 =F A8 AL 445,172 5,209,197 5,654,369
1. 3o]&R a3 A1,102 185,136 184,034
7}, s A1,102 185,136 184,034
1) &9 620-03 |2,90049 ¥ 334 x 1904 = A1,102 185,136 184,034
2. TAXARZFH AB7,756 3,019,312 2,961,556
7F FE % 610—-01 |2,2009 X461 X186 = A14,507 203,148 188,641
U 158y A43,249 2,816,164 2,772,915
1) 29 620-03 |1,45091%5,4467 x 189U = £~21,926 1,514,425 1,492,499
2) A+ 620—10 |1,45091x4,6724 X189 = ~21,323 1,301,739 1,280,416
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(9] - )

53

20164 7173

2016 H=F

T e | e | A AP oA e ® AAE(A) | oAAHA+E)
3. 922 AR B AN X ¢ 475,013 0 475,013
7} x4 620-03 |70€1x1,2487 x180Y= 15,725 15,725
U 258y 208,372 208,372
1) =9 610—-01 7090 %4619 x190d= 6,132 6,132
2) 29 620—03 7091%15,206™ x190% = 202,240 202,240
o}, =8k 120,341 120,341
1) 3¢ 620—03 749x6,8401 X190 = 96,171 96,171
2) AHY 620—10 |749x1,7199 x190d= 24,170 24,170
g nEsky 128,425 128,425
1) =29 620—-03 |749x5,5457 x190d= 77,963 77,963
2) AF 620—10 749x3,5899 X190 = 50,462 50,462
ul, Edky 620—-03 |73€9 %1554 x190d= 2,150 2,150
4, VA EFAERY A11,164 799,260 788,096
7} 8-x1¢9 620—-03 |100¢ x1,2487 x 180U = A28 22,520 22,492
U 2E8m A5,340 300,028 294,688
1) =9 610—-01 10091 %4509 x190Y = A658 9,234 8,576
2) 29 620-03 |100€1x 15,060 X 190Q = N4,682 290,794 286,112
o}, =8k A4,160 229,692 225,532
1) 3¢ 620-03 1409 x6,760 x 190 = A1,724 181,652 179,928
2) A 620—-10 |140€9x 1,714 x190Y= A2,436 48,040 45,604
7} 1Es ~1,812 243,496 241,684
1) 3¢ 620—03 1409x5,5208 X190 = A2,040 148,880 146,840
2) A+ 620—10 14091 x3,565 x190d= 228 94,616 94,844
n}, E4=8y 620-03 |134€1x145% x 190 = 176 3,524 3,700
5. 18A8A Y 40,181 612,888 653,069
7F x4 620—03 759x1,248% x179% = 2,218 14,637 16,855
U, 258w 31,391 222,022 253,413
1) =9 610—01 869 %4619 x186U= 541 6,833 7,374
2) 3¢ 620—-03 |86€x15,206™ x 188U = 30,850 215,189 246,039
o}, =2 w 2,194 174,700 176,894
1) =29 620—-03 |109¢x7,4158 X175 = 2,998 138,222 141,220
2) A 620—-10 |109¢x1,7199 x190d = A804 36,478 35,674
W - ot RFFNS - BFEAAY - FAA - ) FF A 4/10




(9] - )

= [ A A %A% RENE G Rl RS
A A} (B) o 2k (A) 4k (A+B)

E TR 3,705 198,276 201,981

D! 620—03 1179x55458 x189%= 1,487 121,231 122,718

2) A 620-10 |1179%3,589% x189Y= 2,218 77,045 79,263

np, 548w 673 3,253 3,926

D &9 620—03 1619x155% x157= 673 3,253 3,926

[AEEF 185,812 1,036,425 1,222,237

72 & 145,812 989,383 1,135,195

IgmA= RO | 145,812 970,822 1,116,634

1. S FA 7|+ = 145,812 970,822 1,116,634

7h w5 w1 2 7] T A 67,637 294,356 361,993

1) 258ty 620-04 |128,977,0009= 11,800 117,177 128,977

2) =g 43,187 74,241 117,428

7hH = 620-04 |108,001,0009= 43,187 64,814 108,001

3) 15w 12,650 101,538 114,188

7h 3 620—04 95,254,000 = 2,650 92,604 95,254

W} A 62011 |18,934,000¢= 10,000 8,934 18,934

. 3 A 2 | st 78,175 600,966 679,141

1) A 3,257 8,064 11,321

7H FEAARE 420-02 |36,350,0009) X8.96%= 3,257 3,257

2) Al/dH] 74,525 592,171 666,696

7H YxEX 28,675 135,632 164,307

(1) &A9] 420-03 [185,0009 X 155m'= 28,675 28,675

) AR 36,350 187,709 224,059

(1) EA7}FA019] 420-03 [36,350,0009 X 14 = 36,350 36,350

o) Ak 9,500 9,500

(1) ~=ujsw A0 620-04 |9,500,000¢ X 12]= 9,500 9,500

3) Al -t 393 731 1,124

7H FARARE = 420-05 | 36,350,000 X 1.08%= 393 393

Z+EA S 3 & F 40,000 36,820 76,820

ASh3 A 40,000 36,820 76,820

1. 71k S0 3] 40,000 20,460 60,460

A e 40,000 40,000

— 7)==

ASA S Es - ASusAd
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(9] - )

5 99 | A% Aol . 14549 | 20169 714 | 20166 H=
Abel A} A - = (B) o 2k (A) o AH(A+B)
1) $98F 10,2509 X 200 X 4% = 8,200 8,200
2) AFEelxtg 330,00090 X 1t X 60 = 19,800 19,800
3) AT 30,0009 x 47 X 1003] = 12,000 12,000
B A A A A B 1,034 42,662,145 42,663,179
A= R=) PO | 69,082 31,557,839 31,626,921
iR b1 P )] 69,082 31,557,839 31,626,921
.S 7| 229 A271,233 31,225,383 30,954,150
7F G219 2,330,876,000¢1 = ~9,565 2,340,441 2,330,876
U 2538w 19,870,180,000¢91 = A211,610 20,081,790 19,870,180
o} Z38 8,753,094,000¢1= A50,058 8,803,152 8,753,094
=i 5 U R e P 340,315 332,456 672,771
7} 5o ANA 32,100 10,000 42,100
D AR EER 23,000,000¢) = 23,000 23,000
2) A FE 9,100,0009= 9,100 9,100
L AR el T 18,150 30,000 48,150
1) 3% 18,150,000¢1= 18,150 18,150
o}, WA B E 9] 45,000 36,900 81,900
1) 2538w (31) 65,000,000¢1 = 45,000 20,000 65,000
gf, S EAY R E g 53,000 53,000
1) FARPE= 53,000,000¢1 = 53,000 53,000
u}, ¥ An) 3= 29,215 20,000 49,215
1) Ao Ak 29,215,00091 = 29,215 29,215
5] [ A RE B )| 162,850 90,125 252,975
1) 2538w (61) 167,455,000¢1= 97,400 70,055 167,455
2) Z38tw (21) 65,520,00091 = 55,450 10,070 65,520
3) 1E3 W (11) 20,000,000¢1 = 10,000 10,000 20,000
ALeA A =) & A68,048 11,104,306 11,036,258
S Ggu AR AR A £68,048 2,286,525 2,218,477
. S9u AR AT R 2 A68,048 2,286,525 2,218,477
7}, st 7] E2-4d v 2,218,477,0009 = A68,048 2,286,525 2,218,477
st A S ANAAA 757,656 13,857,306 14,614,962
AGERAANANA 757,656 12,559,471 13,317,127




GO )

R el Y. 1257 4 2016 717 | 2016 #HF
A B e (B) A (A) JAH(A+B)

St A nSEAMNA 757,656 12,559,471 13,317,127

1. w A eA 311,098 3,341,695 3,652,793

b gEA A R 93,813 93,813

1) AR 93,813 93,813

71 A AN] 420-02 [88,120,0009 X5.699%= 5,021 5,021

L) AlZd ] 88,120 88,120

(1) AHEA 420-03 |5,460,0009 x 1= 5,460 5,460

(2) glnds 420-03 |71,420,0009 x 141 = 71,420 71,420

(3) Y] 420-03 |11,240,0009 X 1th= 11,240 11,240

o AJAHin] 420-05 88,120,000 X0.763%= 672 672

v WA dE 20,715 20,715

1) AR 20,715 20,715

71 A AN] 420-02 119,238,000 X6.763%= 1,301 1,301

L) A]AdH] 19,238 19,238

(1) Ad=-A 420-03 |5,460,0009 x 14 = 5,460 5,460

(2) g2d™ 420-03 |13,778,0009 x 14 = 13,778 13,778

) A En] 420—-05 119,238,000 X0.915%= 176 176

t} WeeSd Al md g 26,808 26,808

1) +AkE 26,808 26,808

7h Al4dH] 26,808 26,808

(1) ¥R 0eA19) 420-03 172,780 X 94 5m'= 16,328 16,328

(2) AFEelduuj2 A A 420-03 [146,0009 X 30m= 4,380 4,380

(3) FFro] A A g4 % 420-03 |100,000¢ X 25m= 2,500 2,500

(4) A ANA 420-03 [2,400,0009 x1.52= 3,600 3,600

gt U 2] - =% 60,545 60,545

1) Ak 60,545 60,545

7h Al 60,545 60,545

(1) WE=% 420-03 1,490,000 x 264 = 38,740 38,740

2) HR = 420-03 [445,0009 x 492 = 21,805 21,805

vl OEA w A H 109,217 109,217

1) Mok=x 109,217 109,217

7hH A A 420-02 |100,100,0009 x8.417%= 8,426 8,426

m
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(] A 9)

539

20164 7173

2016 H=F

AT S S ®) SHA) | SRH(ALE)
) A AR 100,100 100,100
(1) g=AuAr 420-03 |580,0009 X 130m'= 75,400 75,400
(2) AALH 7 EA 2 420-03 [190,000€9 X 130m'= 24,700 24,700
th Al E] 420-05 [100,100,000¢ X 0.69%= 691 691
2. | FEHMNA 381,558 652,581 1,034,139
7} 23 196,018 268,621 164,639
1) AlAdH] 196,018 266,700 462,718
7)) ok x (R = Al 420-03 |238,0009 X 605m'= 143,990 143,990
W) Sz 1z=94) 420-03 |76,0009 X578m'= 43,928 43,928
h FAdE(HEEY) 420-03 60,0009 X 135m= 8,100 8,100
w2 48,400 128,685 177,085
1) AlAdn] 48,400 127,600 176,000
7h = 420-03 |220,000¢! X 220m= 48,400 48,400
of A EEA4A 89,700 89,700
D 345 89,700 89,700
7h A]dn] 420-03 |230,0009 X 390m'= 89,700 89,700
g AZdE W H S 37,440 37,440
D &5 37,440 37,440
7h Al’dH] 37,440 37,440
(1) 71=237-4 A 420-03 40,0009 X 96m= 3,840 3,840
(2) YA 420-03 |350,000¢] X 96m= 33,600 33,600
nf & e Al A 10,000 10,000
D Y= 10,000 10,000
7h Al4dH] 10,000 10,000
(1) 71&&5g8A 420-03 |3,000,000¢ X 17 4= 3,000 3,000
(2) S5 U] 420-03 7,000,000 X 1 7] 2= 7,000 7,000
3. AN 65,000 1,397,622 1,462,622
i 1 S R 65,000 244,757 309,757
1) Al7dn] 65,000 228,160 293,160
71 Aoz (o] 34) 420-03 [65,000,0009 x 14 = 65,000 65,000
TSR 689,614 2,887,224 3,576,838
W53 H LRk 202,700 2,388,504 2,591,204
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(9] : 2 9)

R el R E=AN | 20169 714 | 20160 HE
A (B) oA AF(A) A4k (A+B)
718 #3 2,200 11,315 13,515
PR =Ry ] 2,200 1,015 3,215
1. IS EHAIEA L HF 2,200 0 2,200
7 5 A LA NAEH 9 A3 2,200 2,200
1) 98+ 20,0009 X 10& x 23] = 400 400
2) FAA 5 80,0009 X 109 x 23] = 1,600 1,600
3) o3H] 10,0009 X107 x 23] = 200 200
198,940 93,281 292,221
Z4ANLEZ g 198,940 93,281 292,221
1. 7| e} A A ] 198,940 0 198,940
7} = AALE A v Q) 580,0009 X 343m'= 198,940 198,940
A AL # e 1,560 478,718 480,278
A AL 2 1,560 478,718 480,278
1. AEAME =R A 2 1,560 478,718 480,278
7F A ekA v #ehE A 7 1,560 1,560
D953 1,560 1,560
7hH 71& 80,0009 x 1% x 13 = 1,040 1,040
) %3 40,0009 X1 x 139 = 520 520
Ry i ey 486,807 498,720 985,527
B i e 2 B 486,807 0 486,807
DA LHA L He 486,807 0 486,807
1. SALAHAAL 486,807 0 486,807
AT = R 35,249 35,249
1) FFA=A 25,0009 X 400m'= 10,000 10,000
2) =] 22,249,0009 X 1 2= 22,249 22,249
3) AT 3,000,000¢ x 1t= 3,000 3,000
U, ARG o] A & k5 Al E 451,558 451,558
1) AAm] 337,280,000 X 4.845%= 16,341 16,341
2) AlAH] 337,280 337,280
7hH 2GR R d Y 1,163,034 €1 X 290m'= 337,280 337,280
3) ARt 337,280,0009 X 0.72%= 2,428 2,428
4) 3271 712,750 X 134%= 95,509 95,509

o - mEPP I RAA - EEA YA B




- IS = A= ST R R (Sl @ H9)

meynml 33 9] Al - = 1A= | 2016 7174 | 2016 FHF
TETE da | Aa | A AT oA St ®) ) | Al
oujul 27 ek 107 0 107
o u)u) 7]} 107 0 107
ARANE2ZS 107 0 107
1. ANEZS 107 0 107
7b. A A B 2R kg 107 107
1) A2AAHSAE] LS 710-02 |106,650¢1= 107 107
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